Number of Events

_ _ e Pythia_ref
3J1mu-1pmiss B Other

0 Z0j: 14.3%
B ] 1 Z0jjj : 21.4%
10— L 170:26.2%
[ 170jj:31%
O | l “| | F | “ “ L L |
0 0.5 1 1.5

angle(plane(beam,jl),plane(j2,;3)) (radians)




Number of Events

=
o

3jlmu-1pmiss

HTH
* |

Pythia_ref
B Other
0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 170jj:31%

LT

il

o
60 3

W p_ (GeV)




Number of Events

N
o

=
o

3jlmu-1pmiss

Pythia_ref
B Other
0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 1Z0jj:31%

et

"iak 1k

e o
500 1000 1500

M(u',)1,2,)3) (GeV)




Number of Events

10

3jlmu-1pmiss

e Pythia_ref
B Other

0 Z0j: 14.3%

1 Z0jjj : 21.4%

L 170:26.2%
[ 170jj:31%

il s
w A

0 2
]2 @ (radians)




Number of Events

3jlmu-1pmiss

e Pythia_ref

B Other

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 1Z0jj:31%

—@—




Number of Events

3jlmu-1pmiss

B Other

e Pythia_ref

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 1Z0jj:31%

—@—




_ _ Pythia_ref
3J1mu-1pmiss B Other

N
)

Number of Events
|_\
o

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 1Z0jj:31%

- LS
Mni

FE R L S
0 200 400 600

M(u,J1) (GeV)




Number of Events

N
o

=
o

Pythia_ref

3j1lmu-1lpmiss B Other

1 Z70j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 170jj:31%

==
| -4—1
all
F ﬂ% [ ] l I
L |||FﬁTT'7F'T|||mﬁl|m
500 1000 1500

M(1,)2,]3) (GeV)




Number of Events

N
)

=
o

3jlmu-1pmiss

Pythia_ref
B Other

i

nl

T

IRE=:

[ ]
I

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 170jj:31%

T T
(11 1 [T]

|

[T

1]
500

A (1 B
1000 1500

M) 1,)2) (GeV)




Number of Events

_ _ e Pythia_ref
3JImu-1pmiss B Other

— 0 Z0j: 14.3%
] 1 Z0jjj : 21.4%
B L 170:26.2%
i [ 1Z0jj:31%
| | I | | I | L] |

0 1 2 3
A@(U ,j2) (radians)



Number of Events

20

=
o

3jlmu-1pmiss

Pythia_ref
B Other

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 170jj:31%

[ ] T
J|. I|=T=|| | II_II—I | |_|| |

|

| I_I—II

1000 1500
M(W,j1,)2) (GeV)




Number of Events

N
o

=
O1

=
o

3jlmu-1pmiss

Pythia_ref
B Other
0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 1Z0jj:31%

M(all) (GeV)

: m L+[ [ ] | [ ]

- L[]

I i ymal
500 1000 1500 2000




Number of Events

10

3jlmu-1pmiss

e Pythia_ref
B Other
0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 1Z0jj:31%




Number of Events

10

3jlmu-1pmiss

e Pythia_ref
B Other

Bl

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 120jj:31%

L ¢ (radians)




Number of Events

10

3jlmu-1pmiss

e Pythia_ref
B Other

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 170jj:31%

.




Number of Events

3jlmu-1pmiss

Pythia_ref
B Other

30

N
)

=
o

.

L @

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 1Z0jj:31%

|
|

[ | ]
| T T [ |
| ll’_l_‘ll l I | ||_I—|| | ] ||_T—||

i
200

400 600
M(2,)3) (GeV)

800




Number of Events

40

30

20

10

3jlmu-1pmiss

Pythia_ref
B Other

0 Z0j: 14.3%
1 Z0jjj : 21.4%

L 170:26.2%
: DZOijSl%
]
=5 LI
g™
s s s e = - = I B R
50 100 150 200

P (GeV)




Number of Events

40

30

20

10

Pythia_ref

3j1lmu-1lpmiss B Other

0 Z0j: 14.3%
1 Z0jjj : 21.4%

L 170:26.2%
: DZOijSl%
]
=5 LI
g™
s s s e = - = I B R
50 100 150 200

clusteredObjectsRecoll p. (GeV)




Number of Events

S
|IIII|IIII|II

=
o1

=
o

3jlmu-1pmiss

Pythia_ref
B Other

g

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 1Z0jj:31%

T 110 [TUd

[

|- L

_
500

I R SR
1000 1500
M(u,J1,)3) (GeV)




Number of Events

10

3jlmu-1pmiss

e Pythia_ref
B Other
0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 1Z0jj:31%

LN

-2

0

pmiss @ (radians)




Number of Events

10

3jlmu-1pmiss

e Pythia_ref
B Other

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%

[ 1Z0jj:31%

WL

il il

2

4 6
AEta(j2,j3)




Number of Events

3jlmu-1pmiss

Pythia_ref
B Other

15

=
o
T T 1 | T T 1 | T T 1 | T

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 170jj:31%

o
O -




Number of Events

S
|IIII|IIII|II

=
o1

=
o

3jlmu-1pmiss

Pythia_ref
B Other

(j

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 1Z0jj:31%

i

n
.

__ [
W e

1
1]

I | | |
500 1000
M(u,j2,)3) (GeV)




Number of Events

=
o

e Pythia_ref

3j1lmu-1lpmiss B Other

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 1Z0jj:31%

| [ ]

—— [—e—

——0— —o— —e

H anll
] |
2.5 3
maxAPhi(j,pmiss) (radians)




Number of Events

40

30

20

10

3jlmu-1pmiss

e Pythia_ref
B Other

Il

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 1Z0jj:31%

—@— T

i'!' | m I|_§—| |

| |
500 1000
M(W,)2) (GeV)




Pythia_ref

3j1lmu-1lpmiss B Other

N
o

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 1Z0jj:31%

Number of Events

=
o1

=
o

M(W,j1) (GeV)

iR = __

B __ | T

- | [ ] | | |

i L W ijn 1ne 1 1 BT T
200 400 600 800 1000



Number of Events

=
o

_ _ e Pythia_ref
3J1mu-1pmiss B Other

0 Z0j: 14.3%
1 Z0jjj : 21.4%

| L 170:26.2%

[ 1Z0jj:31%
| |

—@—

L o—o

|- IR il

+ T h + - T l

0 1 2 3
Ag(u ,j3) (radians)




Number of Events

15

=
o

Pythia_ref

3j1mu-1pmiss BN Other
- 0 Z0j: 14.3%

- 1 Z0jjj : 21.4%
- L 170:26.2%

i .. .. ] Z0jj: 31%

B =

I T | ]

| | I ﬁ m | | |
0 100 200

W P (GeV)



Number of Events

=
o

3jlmu-1pmiss

e Pythia_ref
B Other
0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
L 1 Z0jj:31%

T Y

LI

[

Nullitd I
1

2

A@(j1,pmiss) (radians)




Number of Events

3jlmu-1pmiss

Pythia_ref
B Other

- I Z0j : 14.3%
2 1 Z0jjj : 21.4%
15_ ] ZO__Z 26.2%
- [ 170jj:31%
10~ +
: ph* i |
5_— __ * __ T L
e ! = ST |
O_ l | |_._ | | %_ | |_T|
2 4 6

AR(j2,j3)




Number of Events

10

3jlmu-1pmiss

e Pythia_ref
B Other
0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 1Z0jj:31%




Number of Events

10

3jlmu-1pmiss

e Pythia_ref
B Other
0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 1Z0jj:31%




Number of Events

=
o

3jlmu-1pmiss

e Pythia_ref
B Other
0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 1Z0jj:31%

I__

=

1

2

A@(1,]3) (radians)




Number of Events

3jlmu-1pmiss

15

10~

5
g
ful
O | | |

I,

J
|

|
|

Pythia_ref
B Other
0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 1Z0jj:31%

@ —

'

ol )

il

-

1

2

AQ(1,)2) (radians)




Number of Events

3jlmu-1pmiss

Pythia_ref
B Other
0 Z0j: 14.3%
] Z0jjj : 21.4%

__ L] : 26.2%

151 1 70j -3i%

o T

sl W e

: P +"+w" [HW |
: S I j

0 | BT .'rmx 11,

100 200 300

Mt(u,pmiss) (GeV)




Number of Events

_ _ o Pythia_ref
3J1mu-1pmiss B Other

— T Z0j: 14.3%

] Z0jjj : 21.4%

- L 170:26.2%

[ 1 Z0j: 31|%

—@— T —@—

_ I
| | I

-2 0 2
|3 ¢ (radians)



Number of Events

30

N
)

=
o

Pythia_ref

M(W,j2,]3) (GeV)

3jlmu-1lpmiss B Other
— 0 Z0j: 14.3%
1 Z0jj : 21.4%
L 170:26.2%
[ 1Z0jj:31%
Al
s
-
L | [ ] ] [
: |
| |J|- J|-I I l| | F}T% ||_%—| | H—| | | ||_%—| |
500 1000 1500




Number of Events

=
o

3jlmu-1pmiss

e Pythia_ref
B Other

IS

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 170jj:31%




Number of Events

3jlmu-1pmiss

Pythia_ref
B Other

- o Z0j : 14.3%
2 1 Z0jj : 21.4%
30 [ ] Z0 : 26.2%
- [ 170jj:31%
20
101~ -
I I + ”PT L
i i | L i
NIESERIR Gl 1 TS
-2000 -100 0 1000 2000

W pz (GeV)




Number of Events

N
o

=
o

3jlmu-1pmiss

e Pythia_ref

B Other

0 Z0j: 14.3%

) Z0jjj : 21.4%

L 170:26.2%

i1p_(GeV)

[ 170jj:31%
|l I
| 1 |
— |
] o=
100 200




Number of Events

30

N
)

=
o

Pythia_ref

3j1lmu-1lpmiss B Other
_ ] Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
1 Z0jj : 31%
- |
_-_T [ [ ]
| | 1 T
| | | | | I | | | | | | m |
0 500 1000

M(j1,i2) (GeV)




Number of Events

3jlmu-1pmiss

|
I+—

e Pythia_ref
B Other
0 Z0j: 14.3%
[ 1 2Z0jj:21.4%

1 z0:26.2%

[ 1Z0jj:31%
|

Nl

0 1

2

A@(L ,pmiss) (radians)




Number of Events

=
O1

=
o

3jlmu-1pmiss

e Pythia_ref
B Other
1 70:14.3%
L1 Z0jjj:21.4%
L 170:26.2%

[ 1Z0jj:31%

Lir

|
1
|

5

L
10

minMass(j) (GeV)




Number of Events

N
o

=
O1

=
o

3jlmu-1pmiss

Pythia_ref
B Other
0 Z0j: 14.3%
[ 1 Z0jjj : 21.4%
L 170:26.2%

E T [ 1Z0jj:31%

B .

: B L m

I 1 | A ! |
R N R ERENIn NN
100 200 300

Mt(j2,pmiss) (GeV)




Number of Events

Pythia_ref

3jlmu-1lpmiss B Other

= 0 Z0j: 14.3%

X 1 Z0jj : 21.4%

15_ ] ZO__Z 26.2%

- [ 170jj:31%
5/ | Ml

I | | sej F __

L { NRIbuRlnIN
O"JL' [AEREEREEYE N0

0 1 2 3

Ag(u ,j1) (radians)



Number of Events

10

e Pythia_ref

3j1lmu-1lpmiss B Other

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%

[ 1Z0jj:31%

—@— —@®—

Ty gl

1 | 2
MINAPhI(],pmiss) (radians)




Number of Events

3jlmu-1pmiss

e Pythia_ref
B Other
1 70:14.3%
L1 Z0jjj:21.4%
L 170:26.2%

[ 1Z0jj:31%
|

LT

0 1

2 3

A@(3,pmiss) (radians)




Number of Events

N
)

=
)
O_IIII|IIII|IIII|IIII|IIII

=
o

3jlmu-1pmiss

Pythia_ref
B Other

-

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 1Z0jj:31%

|TlT

| l | J. | | | | | |

20 30
M(j2) (GeV)




Number of Events

=
o

3jlmu-1pmiss

Pythia_ref

B Other

0 Z0j: 14.3%
] Z0jjj : 21.4%
L 170:26.2%

[ 1Z0jj:31%
|

—@—




Number of Events

3jlmu-1pmiss

e Pythia_ref
B Other
1 70:14.3%
L1 Z0jjj:21.4%
L 170:26.2%

[ 1Z0jj:31%
| |

0 1

2

A@(2,pmiss) (radians)




Number of Events

30

N
)

=
o

3jlmu-1pmiss

e Pythia_ref
B Other
0 Z0j: 14.3%
[ 1 Z0jjj : 21.4%
L 170:26.2%

j3p_(GeV)

[ 170jj:31%
| [[
=Nl s
T J [ ] | [ ] T T
| T D o | I Y T I o I 1
30 4 50




Number of Events

N
)

=
O1

=
o

3jlmu-1pmiss

Pythia_ref
B Other

Tl

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 1Z0jj:31%

T

o T
N e N el
500 1000 1500 2000

M(W,j1,]3) (GeV)



Number of Events

=
o

3jlmu-1pmiss

e Pythia_ref
B Other

0 Z0j: 14.3%
| 71 Z0jjj = 21.4%
L 170:26.2%
[ 170jj:31%

AR(j1,2)




Number of Events

10

3jlmu-1pmiss

:

L @—

e Pythia_ref
B Other
0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 1Z0jj:31%

0

j1o@(radians)




_ _ o Pythia_ref
3JImu-1pmiss B Other

N
o

Number of Events
H
o

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 170jj:31%

] |

e, T, |
1 |
] ll .11.=T= ! J.J L

|
40 60 80
J2p_(GeV)




Number of Events

40

30

20

10

3jlmu-1pmiss

Pythia_ref
B Other

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 1Z0jj:31%

Il_é—ll

-

bt 1
500 1000
M(1,)3) (GeV)

1500




Number of Events

e Pythia_ref

3j1lmu-1lpmiss B Other

N W
o o
T 1 [ | [ T 1 | I [ | [

=
o

-

gy
! : InaEabd | inal |

1 Z70j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 170jj:31%

T

[

200

| | |
400 600
Mt(j1,pmiss) (GeV)




Number of Events

N
o

=
o

_ _ Pythia_ref
3J1mu-1pmiss B Other

0 Z0j: 14.3%
1 Z0jjj : 21.4%

Mt(j3,pmiss) (GeV)

L 170:26.2%
[ 170jj:31%
[ ] ] ]
| | P T inal
100 200 300 400



Number of Events

3jlmu-1pmiss

30

=
o

N
o
T T 1 | T T 1 | T T 1 | T

t

e Pythia_ref
B Other
0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 1Z0jj:31%

T

1]

1

Bd

o
o

500

| | |
1000

M(u’,)2) (GeV)




Number of Events

15

=
o

3jlmu-1pmiss

B Other

e Pythia_ref

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 170jj:31%

AR(j1,j3)




Number of Events

=
o

_ _ Pythia_ref
3J1mu-1pmiss B Other

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 1Z0jj:31%

T

—

—

0 T ]

0 1 2 3
AQ(2,]3) (radians)




Number of Events

Pythia_ref

3j1lmu-1lpmiss B Other

1 Z70j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 170jj:31%

3l
20
10+ M| |
I I
I | 1
O_ ﬁ |+ | ml 11 | | ! I_}—h
500 1000

M(W,j3) (GeV)




Number of Events

40

30

20

10

3jlmu-1pmiss

Pythia_ref
B Other

0 Z0j: 14.3%
1 Z0jjj : 21.4%

B L 170:26.2%

B [ ] Z0jj:31%

Sl

UL

: ﬁti . T

[ *%Wﬂ e Haall
0 500 1000

M(u’,)3) (GeV)



Number of Events

=
o

3jlmu-1pmiss

Pythia_ref
B Other

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 170jj:31%

i




_ _ Pythia_ref
3JImu-1pmiss B Other

=
o

Number of Events

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 170jj:31%

(18 Tt Sl
ﬂ. g T

D
L]

T Y A S T PO
200 300 400 500
sumPt (GeV)

@ﬂ*



Number of Events

10

3jlmu-1pmiss

e Pythia_ref
B Other
0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 1Z0jj:31%

gl




Number of Events

10

3jlmu-1pmiss

e Pythia_ref
B Other

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 170jj:31%

gl




Number of Events

_ _ Pythia_ref
3J1mu-1pmiss B Other
0 Z0j: 14.3%

15 ) Z0jjj : 21.4%
- L 170:26.2%
- [ ] Z0jj: 31|%
10— __ o
5‘_' T | % =l (L
| g " "
= L | |

o 1 2 3
atan2(APhi(j2,]3),+-(j2 eta-|3 eta))



Number of Events

=
o

3jlmu-1pmiss

e Pythia_ref
B Other

0 Z0j: 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 170jj:31%




Number of Events

3jlmu-1pmiss

Pythia_ref
B Other

= 0 Z0j: 14.3%
: ] Z0jj : 21.4%
15 ___170:26.2%
- [ 170jj:31%
10~ || +
oF |l mL ||+
- [T Tl |
i | DU [
i Ll 8 L T L
10 20 30 40

M(j1) (GeV)




Number of Events

=
o

3jlmu-1pmiss

Pythia_ref
B Other

1 [0 Z0j : 14.3%
1 Z0jjj : 21.4%
L 170:26.2%
[ 170jj:31%

it

L @—

»

Il

10

M(j3) (GeV)




Number of Events

_ _ o Pythia_ref

3JImu-1pmiss B Other

0 Z0j: 14.3%

- 1 Z0jjj : 21.4%
L 170:26.2%

100 | L 20 31

U1
o
|

| | | | | | |
01 05 0 0.5

uncl P (GeV)



